DEPARTMENT OF HISTORY (HONOURS)

HONOURS NO. OF CORE-1 SESSION CORE-2 GENERAL
LECTURES GE-1
*CH-I-10 CH-I-16 CH-I1-07
CH-2-10 JULY CH-2-15 CH-2-07
CH-3-10 CH-3-15 CH-3-20
CH-4-25 TO CH-4-19 CH-4-10
SEMESTER 1 90 CH-5-35 CH-5-13 CH-5-05
DECEMBER CH-6 -12 CH-6-06
CH-7-10
CH-8-07
CH-9-08
CH-10-10
HONOURS NO. OF CORE-3 SESSION CORE-4 GE-2
LECTURES
SEMESTER 2 90 CH-I-15 JANUARY CH-I-25 CH-I-15
CH-2-20 TO CH-2-13 CH-2-15
CH-3-25 JUNE CH-3-13 CH-3-15
CH-4-15 CH-4-14 CH-4-10
CH-5-15 CH-5-25 CH-5-10
CH-6-09
CH-7-08
CH-8-08

*CH=CHAPTER




Papers | NUMBER OF JULY- TOBER-DECEME JANUARY- TEST APRIL- UNIVERSITY
& LECTURES SEPTEMBER MARCH EXAMINATION JUNE FINAL
Topics EXAMINATION
B.A.PART-2 HONS
PAPER- | 72 CH-1=3,CH-2=12, | CH-4=7, CH- | CH-5=7, CH-9=6 — | CH-10=4
3 CH-3=10, CH-6=8, | 8=8, TOTAL=13 & | TOTAL=4

CH-7=7 TOTAL=15 ;
TOTAL=40 ?
PAPER- | 88 CH-1=9, CH-2=9, | CH-5=9, CH- | CH-8=8, CH-9=8, < [ CH-11=2
4 CH-3=5, CH-4=10 | 6=8, CH-7=8 CH-10=5, CH- ;2> TOTAL=2
TOTAL=33 TOTAL=25 12=7 TOTAL=28 =
O
Z




Papers NUMBER JULY-SEPTEMBER OCTOBER-DECEMBER JANUARY- | TEST APRIL- | UNIVE
& OF MARCH | EXAMI JUNE RSITY
Topics LECTURES NATIO FINAL
N EXAMI
NATIO
N
B.A.PART-3 HONS
PAPER-5 60 CH-1=2, CH-2=6, CH-3=7, | CH-6=5, CH-7=5, CH-9=8, CH- _ S
CH-4=8, CH-5=7 CH-8=05 10=7 5 =
TOTAL=30 TOTAL=15 = <
$ %
> =
PAPER-6 55 CH-1=2, CH-2=8, CH-3=5, | CH-5=6, CH-6=6, CH-7=5, | CH-8=9, CH- = .
CH-4=8 TOTAL=23 TOTAL=17 9=6 Z =
TOTAL=15 5 a;
z g
PAPER-7 55 CH-1=3, CH-2=6, CH-3=8, | CH-5=7, CH-6=6, CH-7=7,CH- >
CH-4=8 TOTAL=25 TOTAL=13 8=5, =
CH-9=5 Z
TOTAL=17 g
PAPER-8 60 GROUP-A : CH-1=5,CH- | GROUP-A : CH-4=7 GROUP-A : Z
2=6, CH-3=7 GROUP-B : CH-8=7 CH-5=5
GROUP-B: CH-6=7, CH- TOTAL=14 GROUP-B :
7=7 TOTAL= 32 CH-9 =9
TOTAL=14

DEPARTMENT OF HISTORY (HONOURS)

DEPARTMENT OF HISTORY (GENERAL)




Papers | NUMBER OF | JULY-SEPTEMBER OCTOBER- JANUARY- | TEST APRIL- UNIVERSITY
& LECTURES DECEMBER MARCH EXAMINATION | JUNE FINAL
Topics EXAMINATION

PART-1 -
Z,
=
%
— %
& =
= <
es! T
PART-2 s =
< z
Z m
PAPER- 65 CH-A=5, CH-B1=5, | CH-B2=3, CH- CH-D=5, CH- < o
2 CH-E1=5, CH-F1=5, | B3=2, CH-C=5, I=5, CH-J=6 O <
CH-F2=5 TOTAL= | CH-G=7, CH-H=7 | TOTAL =16 z Z
25 TOTAL=24 -
o
PAPER- | 60 CH-A=10, CH- CH-D=10, CH- CH-F=10 =
3 B=10, CH-C=10 E=10, TOTAL=20 | TOTAL=10
TOTAL=30
PART-3
PAPER- 53 CH-1=10, CH-2=10, | CH-4=4, CH-5=7, | CH-6=7
4 CH-3=5 TOTAL=25 | CH-6=10 TOTAL=7

TOTAL=21




